

Pay Estimate Created Date: March 16, 2023

			Contract ID Prime Contra		10122-F07 oncrete Strateg					5, 2023 Net	Change Ord	der Amount	\$2,121,000.00 \$0.00 \$2,121,000.00
Approval Date													By User
March 16, 2023 Generated and Approved (and should be considered Draft) at the Project Office Level by												Level by	kratkj
larch 16, 2023			F	Reviewe	ed and Approve	d (and shoul	d be con	nside	ered Draft) a	t the Reside	ent Engineer	Level by	gibbon
March 17, 2023 Reviewed and Approved at the Central Office Controlle											ollers Office	Level by	ramses
Original Comp	letion Da	Compl	etion Date	Actual (Complet	tion	Date	% of C	urrent Contr	act Amoun	t Complete		
June 30,	2022		Ju	ne 30, 2	2022						53	3.44%	
	Co	ontract	Information	al Date	s				Milestones				
Date Description	on Oi	riginal	Completion	Date	Current Compl	etion Date	No Mil	esto	ones Exist fo	r Contract			
Acceptance Date													
Awarded Date	Fe	bruary	3, 2021		February 3, 202	1							
Letting Date	Ja	inuary 2	22, 2021		January 22, 202								
Notice to Proceed	Date Ma	arch 8,	8, 2021 March 8, 2021										
Work Began Date													
210122-F07 Total Posted Items Pay Gross Item Adjustments Incentive Disincentive Liquidated Damage Other Contract Adjustments					Section \$6,848.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00			Previous \$1,126,523.67 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$1,126,523.67			To Da \$1,133 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$1,133		
Contract Total Pay	-		nate:		\$6,848.00								
ems Paid This Est	timate Pe	eriod											
Project Number	Line Nur	mber	Item Code		Item Descr	iption	U	nit	Unit Price	Current Ir	nstalled Qty	Current In	stalled Amount
J6P3446 0020 6189916 MIS					SC.normal work adjustment factor			LR	\$1.070	6,400		\$6,848.00	
Project J6P3446	- Total												\$6,848.00
Overall - Total													\$6,848.00
ontract Adjustme	nts This	<u>Estima</u>	<u>ite</u>										
o Contract Adjustm ne Item Adjustme													

No Data Available



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information											
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work							
J6P3446	FAS- S502(077)	Job order contract for bridge repairs	Various	VARIOUS	at various major route locations in the St. Louis District							

Totals by Job Numbers

23446		This Estimate	Previous	To Date
Posted Iter	n Pay	\$6,848.00	\$1,126,523.67	\$1,133,371.67
Gross Item	Adjustments	\$0.00	\$0.00	\$0.00
	Gross Item Pay	\$6,848.00	\$1,126,523.67	\$1,133,371.67
		* 0.00	* 0.00	* 0.00
Incentive		\$0.00	\$0.00	\$0.00
Disincentiv	e	\$0.00	\$0.00	\$0.00
Liquidated	Damages	\$0.00	\$0.00	\$0.00
Other Cont	ract Adjustments	\$0.00	\$0.00	\$0.00



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Q	uantities	and Value	es are b	ased on F	Report Generated date and can differ from the posted am	ount at the ti	ime the I	Estimate was	s Genera	ated.	
Contract	Project	Category	Line	Item	Description	Bid Quantity	Net	Total	Unit	Total	Uni

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
210122-F07	J6P3446	0001	0010	6189916	MISC.nighttime work adjustment factor	1,500,000.00	0.00	1,500,000.00	DLR	778,839.15	\$1.08	\$841,146.28
		0001	0020	6189916	MISC.normal work adjustment factor	300,000.00	0.00	300,000.00	DLR	154,232.00	\$1.07	\$165,028.24
		0001	0030	6189916	MISC.weekend work adjustment factor	200,000.00	0.00	200,000.00	DLR	2,900.00	\$0.90	\$2,610.00
		0001	9000	6189916	MISC.Liquidated Damages	0.00			DLR		(\$1.00)	
		0001	9100	6189916	MISC.Additional Items	0.00			DLR	117,387.15	\$1.00	\$117,387.15
		0001	9200	6189902	MISC.High Priority Repair	0.00			EA	3.00	\$2,400.00	\$7,200.00
	Project J	6P3446 - To	otal Value	Posted to	Date as of Report Generated Date							\$1,133,371.67
210122-F07 Ove	rall - Total	Value Post	ed to Dat	e as of Rep	port Generated Date							\$1,133,371.67



Decision ICD2440

Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0020 618991	6189916	MISC.	3/6/23	3/13/23	1,000.00	DLR	K23F7994					Work Order #83 44@Antire Hill mm268.2 FORCE ACCOUNT. Single left lane closure EB44.
			3/7/23	3/13/23	1,000.00	DLR	K23F7994					Work Order #83 44@Antire Hill mm 268.2. Single left land closure EB44.
			3/10/23	3/13/23	400.00	DLR	K23F7994					Work Order #83 44@Antire Hill mm268.4 FORCE ACCOUNT. 1 day use of CMS board.
				3/13/23	2,000.00	DLR	K23F7994					Order #83 44Work @Antire Hill mm268.4. 2 single left lane closures, EB44&WB44.
			3/14/23	3/14/23	1,000.00	DLR	K23F7994					Work Order #83 Clayton@270 A4392. Single left lane closure EB44.
			3/15/23	3/16/23	1,000.00	DLR	K23F7994					Work Order #83 44@Antire Hill mm 268.2. Single left lan closure.

The information below this line are details for Construction Signs (if applicable). No Data Available



Line Item Adjustments by Estimate

Contract ID: 210122-F07

No Data Available